



The Gini Coefficient and Negative Income: Reply

Chau-Nan Chen; Tien-Wang Tsaur; Tong-Shieng Rhai

Oxford Economic Papers, New Series, Vol. 37, No. 3 (Sep., 1985), 527-528.

Stable URL:

<http://links.jstor.org/sici?sici=0030-7653%28198509%292%3A37%3A3%3C527%3ATGCANI%3E2.0.CO%3B2-Z>

Oxford Economic Papers is currently published by Oxford University Press.

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/about/terms.html>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/journals/oup.html>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is an independent not-for-profit organization dedicated to creating and preserving a digital archive of scholarly journals. For more information regarding JSTOR, please contact support@jstor.org.

THE GINI COEFFICIENT AND NEGATIVE INCOME: REPLY

By CHAU-NAN CHEN, TIEN-WANG TSAUR *and*
TONG-SHIENG RHAH

BERREBI and Silber are correct in pointing out our error in footnote 3 in our previous paper. The error comes from our carelessness in wrongly putting $G^* = [1 + 2(A - C)] / (1 + A)$.

Berrebi and Silber's alternative algorithm, however, is not simpler in any way. Write x_i for the income share of the i th family of the new population and notice that

$$y_j = \sum_{i=1}^m x_{(j-1)m+i} = mx_{(j-1)m+i}$$

It can be proved that

$$\sum_{j=1}^k y_j = \sum_{j=1}^k \sum_{i=1}^m x_{(j-1)m+i} = \sum_{q=1}^{mk} x_q; \quad \sum_{j=1}^k jy_j = \frac{1}{m} \sum_1^{mk} qx_q + \frac{m-1}{2m} \sum_1^{mk} x_q$$

Thus

$$A = \frac{1}{nm} \left[\sum_1^{mk} qx_q + \frac{[(mk+1) + (mk+f)] \left(- \sum_1^{mk} x_q \right)}{2} \right]$$

But in view of

$$- \sum_1^{mk} x_q = \sum_{mk+1}^{mk+f} x_q = fx_{mk+f}; \quad \frac{[(mk+1) + (mk+f)] fx_{mk+f}}{2} = \sum_{mk+1}^{mk+f} qx_q$$

A can be rewritten as

$$A = \frac{1}{nm} \left(\sum_1^{mk} qx_q + \sum_{mk+1}^{mk+f} qx_q \right) = \frac{1}{nm} \sum_1^{mk+f} qx_q$$

Thus, Berrebi and Silber's alternative version of G^* should be written as

$$\begin{aligned} G^{**} &= \frac{1 + \frac{2}{nm} \sum_1^{mk+f} qx_q - \frac{1}{nm} \sum_{mk+f+1}^{nm} x_q [1 + 2(nm - q)]}{1 + \frac{2}{nm} \sum_1^{mk+f} qx_q} \\ &= \frac{\frac{2}{nm} \sum_1^{nm} jx_j - \frac{nm+1}{nm}}{1 + \frac{2}{nm} \sum_1^{mk+f} qx_q} \end{aligned}$$

To use G^{**} , one has to compute m and f . But if one knows the value of m

and f , one would rather directly use the corrected version of G^* in Berrebi and Silber's comment, since

$$\frac{f}{m} = \frac{-\sum_1^k y_j}{y_{k+1}}$$

is already there.

*Institute of the Three Principles of the People, Academia Sinica, Taipei
National Taiwan University, Taipei*